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Which number re

N 2 7
4 2 6
3 2 ?

A. S B.7 C.2 D. 4

Solve: Mwmmm,wmwwmaﬂ?mm
gimt;c‘ram@mﬁrﬂrmlm5+2=7miz4+2 = 6 JwAmk, 3 +
Ans: A

If a doctor give you 3 pills and tells you to take one pill every half
an hour, how long would it be before all the pills had been
taken?

A. 1 hour B. 1.5 hour C. 2 hour D. 2.5 hour
Solve: o Bt pill Wrear 31 7o 203 | Wt @t s7 fFEB S BY ol w0 wH
ﬁﬁtﬁwmuﬂzwowﬁﬁzﬁmﬁnmwﬁmzm

Ans: A

Which is the odd (dissimilar) element in the following set?

A. Vendor B. Retaier C. Tailor D. Trader
s adISsionwar.com
Tailor =t wfet

Trader =1z I2=73T

Foar, sqa@ ‘C’ odd 3t dissimilar , Ans:C

‘Meteorology’ is related to- WGMQWWW)
A. Geography  B. Environment C. Disaster D. Weather

Solve: ‘Meteorology’ W< & wRARiew fawm | Joar D wor I

ARG HA5E 7 | Ans:D

If ‘eraser’ is called ‘box’, ‘box’ is called ‘pencil’ ‘pencil’ is called

‘sharper’ and ‘sharper’ is called ‘bag’ what will a child can write
ith?

Z.l tflilr.aser B. Box C. Pencil D. Sharper

Solve: Box #it# cargy  Pencil @4k B @A correct answer.

Incubator : Infant : : Green house : ?

' D. Plant
A. Temperature B. Environment C. Gas
Solve: If:ubator A TR W AG 6 AT fbry (@7 Far 78 WK Infant
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129 What is the sum of the angles of a triangle?
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A. 60° B. 360" C. 90" D. 180° :
Solve: frgrem fomicea {8 svo° | Ans:D '

. A daughter is always --- than her mother. i
A. older B. younger :
C. more intelligent D. more beautiful |
Solve: F@iF SR T BTF (RG XA | Ans:B |
. R SRYT @07 :
A.m B.e £ 42 D. None |

Solve: e sl ¥ e Sy 0 T AT | Ans:D |
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. What is the synonym of “effiggy”?

A. Profundity  B. Proxy C. Bolder D. Dummy
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TSN AT O

Foqre, Afoe T&d ¢ D

1Q @ =t 7

A. Intelligence Question B. Intellectual Question

C. Intelligena Quatation D. Intellectual Quatient

Solve: 73z I &1 A
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Verb of ‘Number’ is—

A. Number B. Numbering C. Enumerate D. Numerical
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Team B is lagging behind by 2 goals, | ; |
. In :

situations team B can win the match? which of the fow

A. Team A scores another goal and teg

s N . m B scor . I
remaining time. ¢s 3 goals in the,

|
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D. None of the above. |
Solve:mWWmeﬁm :
Ans s D |
i

:

. A is the brother of P, Q and R are sisters. R is the mother of B

and B is A’s sister. Which of the followings must be true?

I

A. Q is mother of A B. A and Q are sister '
C. P is the brother of B D. B is R’s son :
Solve: TS AT (T AN @, P 271 A 97 ©fF | I
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., ABCDEFGH :
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. : . .
TS HECOm
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cwasl3 below zero. By noon it has'

. The minimum time Rafiq and Shafiq require to reach the
hospital from their hall by walking is 38 minutes and 32 mlnules
respectively. If Rafiq and Shafiq decided to go to the bospml
together by walking , what is the minimum time they will require,
to reach at the market? |

At 3:00 AM the temperatur .
risen to 32°. What was the average hourly increase im,
temperature? i ; :
A. (—) B.45° C.(3) D.5 .
Solve 13° below zero means (-13)" '
3:00 AM to 12:00 PM = 9 hours (noon=12:00 PM) !
-13° t0 32° = 45° :
average = :)0" . :
Tez: (D) :
. T s o kL a3 avers s o w T, e xS s
g |
. (L-T) ¥ (L+T) . (LxT) w (T-L) |
Solve: WW@WWWﬂmmmmm :
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A. 32 Minutes ! B. 34 Minutes '
attmmsiqmmmm. " w
W (C) n

Reaching at a party day before yesterday, a man found hlmsclf'
two days late. If day after tomorrow is Thursday, then on what,
day was the party scheduled to be held? [
A. Thursday B. Tuesday C. Sunday D. Friday
Solve: day after tomorrow = Thursday |
ﬂmt means, Today Tuuday 3

mm Smy &ay = Frxhy‘ o + ':hf"'é':“ e »
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Ans: B

o¢. In 10 minutes after a plane leaves the airport, it is reported to be!

I

I

I

| 40 miles away. What i I
B shnet? y is the average speed in miles per hour of the,
I

|

|

l

|

A. 560 B. 66 C. 400 D. 240 '
Solve: 10 fir. = 40 wze Sufea '
| i, w22 wiger - 4]
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o8. A man works twice as fast as any of his helpers. If he does
in 90 hours, how many hours are required for 6 helpers to do the'

job? :

A 1S B. 30 C. 45 D. 10 "SI
. Solve: @wew Wares (7 M o O I GFE (RHIEE A (30 X )

al A .«J?;{ oY)

- TRy e o W= OO

| g oy i, ey =2 = 30 WO Ans 1 B3 ‘“;:

'&ﬂn.uwmsmhgharow.Dhtotl\eleftofC,lhtoth'

right of E, A is to the right of C and B is to the left of D. If E isi
the last man, then who is in the middle? :
A A B. B eC D.D__

3 Ans: D

- g e ™ ) . TN
s ‘
Solve: E-B-D-C~ '
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;oil‘ Think a number and then double the number. Then add 8 and
I multiply the result by 6. Now divide the result by 12, thep

subtract the number you first thought out. What is the fina)
result?
A, 4 B. 6 C. 10 D. 14
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Wr lmme Expenditure
: A. Pond : Fish B. Money : Rich
Factory : Worker D Productlon consumptlon

{o5. Which is the smallest fraction?
A.S/13 ¢ B.1836 &
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A. 564 B.654 C. 645 D. 456
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104, RIDICULOUS ‘ 4
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Solve: RIDICULOUS-zP1%% ludicrous- 277 devastating- e,

Sﬂw&@sﬂﬁmax: aﬁtmmu—s =0l

%hs*f’a’évﬂ 1y g AR ¥ N

I
I Revealing- #3=; enormous- 2% | |
I Tewss |
1o%. DESTRUCTION |
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:oi. Appropsiate analogy of “misogynist : women”
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sf. misanthrope : Mankind 9. Psychologist : Mental
Solve: misogynist WtF 7 Rrad : women (1) | TR =bra e !
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1°¢. Pediatric relates the treatment of:

I % adults o, women %, children S

: Solve: Pediatric mon oo foracanena fofwent 1 Somgs
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:*°':§3’ﬁ“3“‘mﬁ“ﬁmmwm,mmm ot
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,' Solve: Qb%@&&ao nwg-r-com |
| T©EasY : :
123, 1Q 97 uf =17 |
: . Intelligent Question 4. Quotient :
i . Intelligence Quotient 9, Intelligence Quotier |
| Solve: IQ @z 7% elaboration 2z Intelligence Quotient. v
: Tez s as,
o, frsw cmaba e sdies?
| T.e+e¢+eXxXedeXe+re+eTe+reXe+eNe+eXe+¢
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Most Important Practice

C. the Prime Minister D. the peo

101. What is the last consonant before the last vowel of the alphabet?

W B.P C.F D.J

:02. P is now three times as old as Q, but 5 years ago P was 5 times

" as old as Q was. How old is P now?

! A. 30 B. 10

| - 12 D. none of these

:03. Which one of the following is the heaviest?

" A. 1 Kilogram of rice B. 2 CFT wood

" C. pound of iron D. not possible to measure

104. Boxes always have:

| A. Angles B. Shapes C. Wood D. String

:05 T WIS GG 27 A0eq T80 1 067 RIR?

y T 2. et of. et . e

106. What is half of one tenth of three fourth of 880?

i A. 35 B. 33 C.34 D. 40

107. If Method stands for 432156, then 456 stands for:

| A.Hot B. Toe C. Met D. Mod

(08. T GO G SIS AL 3 T | R0 B =i wire T g woiRe

] F. 38 TO1 <, Y0 B! . > IOt 9. 53§01

- ;;atl'rrﬁgwnwa ol

: . (TR v, A"

110. m:qrtmww Y0 (FfE 0T 5 F oI o vy

' A.0kg B.35kg C.70 kg D. 140 kg

:l I. Which number should come next in the series?

I 204,100,48,22,.............

l A9 B. 11 C.8 D. 12

'12. Which of the following does not vary with temparature?

' A.Normality B.Molarity  C. Morality D. Formality

13. Which one is odd?
A. French B. Germany C. Italy D. Spain |

14, If Sunday falls on 21 then saturday falls on ..........? |
A.26 B. 27 C. 28 D. 24 |

I15. Which one of the following is not a prime number? ;
A. 31 B.61 G Th D. 91

16. According to the the constitution of Bangladesh, the owner of:
the “llﬂ'y is sessessserrenne |
A. the uniied nations B. the Government :

|




. A girl introduced a boy as the son m '
of th
father of her maternal uncle. The b ¢ only daughter of the

: A brotil - oy is girl’s......... ?
' . son

| .
o C. daughter D. son-in-law
: ' m"m“““m’“‘"” Gt T o T SRGIA ¢ & Tt ¢ T ;
: ¥, 00 Q. R0 . ¢ q. 3¢ :
'>b. ast-ﬂ‘lb‘l‘f%)d’omﬁme&% =S 0 | e s vor 1
i - 3¢ . 3q¢ sf. Y00 . 23¢ |
jR0. TR R Gt Bl e |
| TG <. e o, At . F3 :
:21. If one-third of one-fourth of a number is 15 then three tenths ofl
: that number is ......... I
I A.35 B. 36 C.45 D. 54 I
122. Marathon is to race as hiberration is to ...... :
I A. bear B. dream C. sleep D. winter I
123. Optimist is to cheerful as pessimist is to I
: A. gloomy B. helpful C. mean D. petty 1
;24. Paediatric relates to the treatment of- :
I A. adults B. children C. women D. old people
125. A pilgrim is a person who undertakes a journey to a ...... I
2 ISSIONW&k.Com
: - m O { plC O |
:26. First language means the .......... language. :
I A. important B. main C. natural D. official "
127. 2,9,28,65,126,216,344, (b7 21 RY! @G? I
| A.28 B. 216 C. 65 D.2 :
I : 2

28. Rajshahites means........ . ; . : : I
: A historic sites of Rajshahi B. inhabitants of Rajshahi |
| C. people who like Rajshahi D.peopfle who visit Rajshahi I
129. If Dhaka is Jahangirnagar then Bogra is ......... :
| A, Mahasthangar B. Varendre |
: C. Paharpur D. Pundranagara I

has ...cooeee I
:30. :‘ccl:so::(:;;ay‘ B. bench C. black-boards D. students :
. for a box not to have a ...
PL ‘l: I:oi:l;&otﬂ > B. handle C. lid D. p.ocket :
I35 It is impossible to judge a man’s character without his.... |
|3 . . B. deeds 1
! 3 m ity D. education :
| . gence
er find .......

133. l: a rainbow m;“"’ o D. blue :
' W e —— e



134, In a que of girls nishi is 8" from the front and 16" from behinc

what is the total number of the girls?

| A. 8 B. 22 o ¥ D. 24
I35, If the day after tomorrow is wednesday, which was the da
: before vyesterday?
| A. Saturday B. Friday C. Monday D. Sunday
1OV, SIS OISR YT IS LA? 8,b,9,98; Y,9,5,29, ,4,¢,(?)
| T, W q, L S, brd 9. 88
loq, awe ¥R enjrane B @1 A1 P2 €,9,55,58,(2)
S N ¥, v o, o¢ q. 83
(O, IS WO T A ¢ o Heraw 7B AW WA X
| FD 9. 8 . ®0d L ToTo)
loy. 200 BIFR Yo% 97 T4t Yo St -
: T v <, 383 o, .33
(80, TBRGT GfTe T-
| SRR Y. f& @ wEfer of. FR ¥, ol
I41. A man and his wife have four sons. everyone of the sons has :
: sister. How many member are there in the family?
. A. 10 B.9 C.8 D..7
142. Light year is related to?
! A. energy B. speed C. distance D. intercity
143. Trace the stranger in the following group:
@M SO T CORR
(44. Itis impossible to write a drama without a.....
I A. pen B. director C. plot D. pencil
145. It is impossible to be brave with out
| A. arms B. money C. courage D. friends
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,'93. On glancing through your morning nevyspaper YOu notice thg;
four pages are missing . One of the missing pages is page 8 The
back page of the newspaper is 28. What are the other three
missing pages?

A. 7,2lg,22 B. 7,23,26 . Hi%23 V. 121 38
While shopping, zaber met his father-in-law’s only daughtep’s
mother-in-law’s daughter. What relation was this person ¢,
Zaber?

A. sister B. sister-in-law C. daughter D. mother
What is the next number in the series:

FRGRTRLR Y EIETR ?

A 18 B. 19 C.20 ».%1

T OO TR PU 0 51 I v T oy Ier

3. 3 ot <. 20 Bt 1. 38 Bt 9. 53 Bzt

T Ty

IR=9, R=¢, V=Y T bd= FS?
R 4. . ¢ 9.5
AT x-10 3T TF | S0 IRF 719 O IFT JA?
. X0 9. x+d T X 9. dox-do
vo% =F%?
B 2 s 3
i ¥ : <. = . 3 q. £
.hO. 0.3X0.008¢ = ?
¥. 0.00%0) L ¥, o.c:ooh 9. 0.0000%¢ ¥, 0.000%¢
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